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International System (SI). ( SI ) \)/./ );0 ;‘:_,.,A ®

SI unit
Length (L) Foot (ft) Meter (m)
Mass (M) Slug? Kilogram (kg)
Time (T) Second (sec) Second (s)
Force (F) Pound (Ib) Newton (N)?
Temperature
Absolute Rankine (°R) Kelvin (K)

d,.:/ Ordinary

Fahrenheit (°F)

Celsius (°C)

‘it

4 Derived unit (Ib-sec?/ft).
b Derived unit (kg:m/s?).
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English Engineering (EE) System.
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SYMBOLS AND ABBREVIATIONS

British Engineering System

WL o~

: hn <
International System to

unit) weight
Mass density
Specific gravity
Dynamic viscosity
Kinematic viscosity

Pressure

Surface tension

Parameter to International System British Engineering System
Length 1in = 0.0254 m I m=3937in
1 ft = 0.3048 m 1 m= 3281 ft
Mass I slug = 14.59 kg 1 kg = 0.06854 slug
Force 11b=4448 N 1 N =0.2248 Ib
Time lsec=1s l1s=1sec
Specific (or 1 Ib/ft = 157.1 N/m? 1 N/m* = 0.006366 Ib/ft}

1 slug/ft® = 515.2 kg/m?
Same dimensionless

value in both systems

1 Ib-sec/ft* = 47.88 N-s/m’
1 ftX/sec = 0.09290 m?/s

1 Ib/ft*> = 47.88 Pa

1 Ib/in® = 6.895 kPa

1 Ib/ft = 14.59 N/m

1 kg/m* = 0.001941 slug/f*
Same dimensionless

value in both systems

1 N-s/m? = 0.02089 Ib-sec/ft?
1 m?/s = 10.76 ft*/sec

1 Pa = 0.02089 Ib/ft®

1 kPa = 0.1450 Ib/in®

1 N/m = 0.06853 Ib/ft

Fluied Mechnic_99 Page 3



